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Best-fit result

Model parameters Parameter Comment
Ref. [169] 68% CL 95% CL
_ . +0.22 Awz = kw/kz from ZZ and
Kz, /\wz (Kf —1) /\wz 0'94—0.18 [0.61, 1.45] 0/1-]'et WW channels.
Kz /\WZ K e /\wz 0 92+0'14 [0 71,1 24] Awz = Kw/Kz from
! s (top) =012 R full combination.
les couplings
1.01+3% 0.87,1.14] V>0 COUPTNG
Kv, K¢ (tf;) v —0.07 [ ’ ] to W and Z bosons.
K¢ 0.871014  [063,1.15] " scales couplings
' to all fermions.
16 Adu = Ku/Kq4, relates
kv, Adus Ku (top) Adu 0.99fg:%g [0.65,1.39] up-type and down-type
P fermions.
47 Apq = K¢/ Kq, relates
LA A 1.03702 0.62,1.50 fa = M0
Kvs Mg K (top) ‘a —0.21 [ ] leptons and quarks.
Kw 0.95 512 [0.68,1.23]
Kz 1.05 7918 (0.72,1.35]
Kw, Kz, Kt, +0.19 .
Extends Kt 0.81 715 [0.53,1.20] Up-type quarks (via t).
. e x 51 Kb 0.74 fg;’g [0.09,1.44] Down-type quarks (via b).
b T T Kt 0.84 fgjig [0.50,1.24] Electron and tau lepton (via T).
Ky 0.49 f(l):ig [0.00,2.77] Ky scales the coupling to muons.
Me Ref[202] M (GeV) 245+ 15 [217,279] Kf = Ummi—e and xy = UM”I’X_ZE
€ 0.014759%  [—0.054,0.100] (Section 7.4)
o x 48 Kg 0.89fg:%(1) [0.69,1.11] Effective couplings to
& (top) Ky 1141012 [0.89,1.40]  gluons (g) and photons (7).
Kg, Ko, BRBsM 48 (middle) BRgsm <0.14 [0.00,0.32] Allows for BSM decays.
with H(inv) searches — BRiny 0.03 *0.2° [0.00,0.32]  H(inv) use implies BRypget =0.
with H(inv) and x; = 1 — BRiy 0.06 *0.31 [0.00,0.27]  Assumes &; = 1 and uses H(inv).
Kez 0.98 1012 0.73,1.27] gz = Kgkz /Ky, ie. floating K.
KeZ, Awz 0.87 1015 [0.63,1.19]  Awz = xw/xz.
“ Azg 1.39 j§;§g 0.87,2.18]  Azg =Kz /kg.
/\WZI /\Zg/ /\bZ/ (bottom) /\bz 0.59 t8§§ S 1.07 Abz = Kb/KZ.
Ayz, Az, Mg Az 0.79 X0 [047,1.20] Az =k /xz.
Atg 2.18 103 [1.30,3.35] Ay = Ke/xg.
Ky 0.967013 [0.66,1.23]
Kp 0.64f8‘%g [0.00,1.23] Down-type quarks (via b).
Kv, Kb, Kz, '
Ve te Similar to Kt 0.82f8;}g [0.48,1.20] Charged leptons (via 7).
50 (top) Kt 1.60fg'§‘21 [0.97,2.28] Up-type quarks (via t).
Kt, Kg, Ky +0.15 1
Kg 0.75_8_%; [0.52,1.07]
Ky 0.98f0216 [0.67,1.33]
with xy < 1 and BRggum — BRgsm < 0.34 [0.00,0.57] Allows for BSM decays.
with xy <1 and H(inv) — BRiny 0.17 £0.17 [0.00,0.49] H(inv) use implies BRyndet = 0.
with xy <1, H(inv), — BRiny 0.17 +£0.17 [0.00,0.49] Separates BRipy from BRypget,
BRinv, and BRynget — BRundet <0.23 [0.00,0.52] BRpsm = BRiny + BRundet-




